= BARRACUDA

LEGEND
ASSEMBLING INSTRUCTION
1. LICENCE PLATE 3. WASHERS @6 5. WASHERS 0910
PORTATARGA RONDELLA 26 RONDELLA @10
PLACA ARANDELAS 26 ARANDELAS 310
LICENSE PLATE NUMMERNSCHILD SCHEIBE 06 SCHEIBE 910

PLAQUE D'IMMATRICULATION ~ RONDELLE 06 RONDELLE 010

YS9104-2-23 2. ALLEN SCREW M6X20 4. NUT 006 6. SPECIFIC THICKNESS
VITE A BRUGOLA M6X20 DADO 26 SPESSORE SPECIFICO
TORNILLO ALLEN M6X20 TUERCA 26 ESPESOR ESPECIFICO
INBUSSCHRAUBE M6X20 MUTTER 06 SPEZIFISCHE DICKE

WWW.BARRACUDAMOTO.COM Ui L BN BB ERolC: AT o

REVERSE POSITION OF THE ORIGINAL
SPACER OF RUBBER SILENT BLOCK

ORIGINAL ALLEN SCREW

§ ORIGINAL INDICATORS

/




